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Question 1.Select the related word/letters/numbers from the given alternatives:
&3 T fashedl # O Tefetre Qee/37&RT/HETT Y YT
Words : Sentence :: Paragraph: 2

ouST : AT 1 IR 1 ?

Options:

1) TYPING

EhoT

2) Essay

IGECI)

3) Letters

HER

4) Phrase

CICDIN

Correct Answer: Essay

[GECd)

Candidate Answer: Essay
IGEC

Question 2.Select the related word/letters/numbers from the given alternatives:
&3 T fashol & O TefetreT Qse/37&RT/HEdT Y YiAT|

BDCE : GIH] :: QSRT : ?

Options:

1) VWXY

2) UWMX

3) VXWY

4) UWNX
Correct Answer: VXWY
Candidate Answer: VXWY

Question 3.Select the related word/letters/numbers from the given alternatives:
&3 7 ool & & Hafetra 2ree) 3Ri/dedr &1 giav|

9:162::8:7?

Options:

1) 96

2) 112

3) 128

4) 160
Correct Answer: 128
Candidate Answer: 128

Question 4.

For the following questions
Find the odd word/letters/number from the given alternatives.
fer o et & & ey ereey srewy/deaT 9w
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Options:

1) Apartment
IEHTT

2) Garage
Rrer

3) Quarter
FATX

4) Flat

ol

Correct Answer: Garage

CIRE

Candidate Answer: Garage

EIRE)

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

fedr o fameit & & ey ereey areRy/wEaT 9T

Options:
1) BDF

2) GIK
3) LMO

4) 0QS
Correct Answer: LMO
Candidate Answer: LMO

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

&3 T ool & § Tawa efee/ 3aR/HEdT Z7d gl |

Options:
1) 5-21

2) 29-45
3) 48-68

4) 71-87
Correct Answer: 438-68
Candidate Answer: 71-87

Question 7.Arrange the following words as per order in the dictionary
Tere=Tfollera ereel &1 Aseehier 7 fT 7T & & 38R faf@w |

1. Diffident 2. Difficult 3.Different 4.Diffidence

Options:

1)1,234

2)3,24,1

3)2,1,34

4)3.2,14
Correct Answer: 3,2,4,1
Candidate Answer: 3,2,4,1

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TAEA T Rt 7 h Jefsha ferm 12T &, FSraat Ueh ue et §1 U 10 fashed & @ 6@ faehod giaT Sit ieshat 1 o7 |

ACE, GJI, MQM, ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD I=&appid=1a4fff78943b24af40c79deccfO9bb87#



9/26/2016 Staff Selection Commision
Options:
1) SXQ
2) RWQ
3) suQ

4) RXP
Correct Answer: SXQ
Candidate Answer: [ NOT ANSWERED ]

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
fAFATATRYT TRt & Ueh Jiefsha T 91T &, 1aal Ueh v o §1 T 10 fachedt & & W1 faehod AT St 3iefshal hT o7 T |

6,11,21,36,56,?
Options:

1) 42

2)51

3)81

4) 91
Correct Answer: 81
Candidate Answer: 81

Question 10.If 4 cats can kill 4 rats in 4 minutes, how many minutes will it take 8 cats to kill 8 rats?

Ife ar afeert 4 ae & = gt & A) g §, a ame Rfeaat 3me <gh & #ARa # farder g ot 2
Options:

1)8

2)4

3)2

4) 16
Correct Answer: 4
Candidate Answer: 16

Question 11.If the sum of three consecutive numbers is 15, what is the square of the middle number ?

fe et FAETa T3t 7 AT 15 §, A FET TEIT I 997 4T glaT?

Options:

1) 16

2) 25

3) 36

4)9

Correct Answer: 25
Candidate Answer: 25

Question 12.From the given words, select the word which cannot be formed using the letters of the given word.

feefofed fashedl & & g 2rse AT S QT 1T 2se o 37aRT 7 T ek oTe] AT ST HeheT|
ILLUSTRIOUS

Options:

1) Lust

2) Trust

3) Riot

4) Rust
Correct Answer: Trust
Candidate Answer: Trust

Question 13.If A=1,
CAT=60,
then MAN=?

Ifg A=1,
CAT=60 g,
dr MAN=?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD I=&appid=1a4fff78943b24af40c79deccfO9bb87# 3/29
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Options:
1) 27

2) 90
3) 180

4) 182
Correct Answer: 182

Candidate Answer: 182

Staff Selection Commision

Question 14.If 'P' means '+', 'Q' means 'X, 'R' means '+', and 'S' means '-', then 44Q9R1256Q4P16=?

af P 3 4, B, 'Q A X, R I, S g, ar

44Q9R1256Q4P16=?
Options:

1) 25
2) 36
3) 112

4) 12
Correct Answer: 25
Candidate Answer: 25

Question 15.If 84+96=4842,

then 36+78=?

Ife 84+96=4842 @I,
dar 36+78=?

Options:
1) 3918

2) 3678
3) 3819

4) 1839
Correct Answer: 3918

Candidate Answer: 3918

Question 16.Find the missing number from the given responses:

6 15 | 20
8 4 5
3 5 20
51 | 65 ?

T 1T fashedt 1 A o 3k 3 HfSIT ?

Options:
1) 12

12

2)51

51

3) 56

56

4) 120
120
Correct Answer: 120
120

Candidate Answer: [ NOT ANSWERED ]

Question 17.Rajesh walks 2 km to south, then turns north-east, and walks 3 km. Then he turns south and walks 2 kms. Then he turns west and walks 4 kms. Finally,
he turns north-west and walks 5 kms. In which direction is he from his starting point?

TSI STETOT 27 37 2 oA, =refer &, 3 T Seai - o o 31K Hget 3 Toh. o, refll &1 3% ae; a afaror o 31X Hgert 2 foh.all, wrefar &1 R afers 1 31k gzt 4
T35, oIl 1 37T & dg Sco-aTRes 6l aiw Hzal 8, 3R 5 .. Tolcl §1 a8 Yo3ieh v & frg fem 7 2
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Options:
1) North-west
ScaR-afRaH
2) North-east
sl
3) Souh-east
ETRT-qg
4) South-west
gfaror-afeas
Correct Answer: North-west
ScaR-afead
Candidate Answer: North-west
Scai-afRaH

Question 18.0ne statement is given followed by two conclusions/assumptions, I and II. You have to consider the statement to be true, even if it seems to be at
variance from commonly known facts. You are to decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement:

I) Quality has a price tag.

II) India is allocating lots of funds to education.

Conclusions:

I) Quality of education in India would improve.

II) Funding alone can enhance quality of education.

AFATAAT U 7 Uk IT &Y IFaed e a1 §, forash 31T &) frsend/Aeadng, 1 3R 11 fAerer a1 &1 39en! R o1 § & aoaey Icg § 91 a8 Ogd: O a2 &
e Tl 81T 811 3T (AT et § T RU 31w aoFdey & ¥ Fia-ar ARad &9 d &) v/ A=aar A o1 Tharg ?

YU :

I) I[0TdlT T T Hod gIetT 81

IT) $1RT TRAET AT HIAY &t T 3Tde 1 ET 1

ot

I) &Rt 3 R¥etr Y F[orarcar # gur g

1) Sheret forelrereT & €1 FRIET &1 J0TdiedT T SR S HehelT §1
Options:

1) Only Conclusion I follows

Fael fashy [ T 8

2) Only Conclusion II follows

ool sy 11 T 8

3) Both the Conclusions I and II follow
sy 1 3T 11 &=t T &

4) Neither Conclusion I nor II follows

AT ar ey 1 e & R A & 1L wér g
Correct Answer: Only Conclusion I follows
e fosay [ @ g

Candidate Answer: [ NOT ANSWERED ]

Question 19.How many triangles are there in the following figure?

TerAfaf@a el # forer feger & 2

Options:

1) 18

2) 13

3)9

4)5

Correct Answer: 18
Candidate Answer: 18

Question 20.Identify the diagram that best represents the relationship among classes given below
Males, Fathers, Engineers

a6 3G YA S A 3 oy el & ofier |gY G by efar g |
g, fira, gefifere)

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD I=&appid=1a4fff78943b24af40c79deccfO9bb87# 5/29
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Options:

©O0

3

a4

® © 6

Correct Answer:

@

Candidate Answer:

Question 21.Which answer figure will complete the pattern in the question figure?

A S-S Y- & TTET hl G il 2

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD I=&appid=1a4fff78943b24af40c79deccfO9bb87# 6/29
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Options:
1)

.

Correct Answer:

/)

Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

3w a1w faemredt & & 38 3cav 3 A g o weet smgfar Afea &1

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD I=&appid=1a4fff78943b24af40c79deccfO9bb87# 7129
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Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figure. From the given answer figures, indicate how it will appear when opened.

afe; ferly ShIaTet oY oAl &) 318 Yot JMTpict & IHTHR FAISHT FHIeT ST AN Wieded o STe; dE Tt ATehfer S fars &am 2

P EE R
\/ \l =
b '-‘
& >

LS
~
*
H
.

e e
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Options:
1)

o O o)
0C o
Correct Answer:
o (@]
e Nl
O = OO
o O
e
O O

Candidate Answer: [ NOT ANSWERED ]

O

Question 24.1If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I T GUOT T MN XE@T o T@T ST AT & 31§ Scaid I ferat 7 8 HieT-Br 3feT T2 3P i Far wferfassy giaft 2

/

e N kg -
O

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD I=&appid=1a4fff78943b24af40c79deccfO9bb87# 9/29
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Options:
1)

O

NN

o

2)

e

@)

3)

e

4)
o>
O
Correct Answer:

e

o

Candidate Answer:

G

7

@)
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Question 25.In this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 4 and that of
Matrix II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., A can be represented by 02,10, etc.,
and 'B' can be represented by 57, 65, etc. Similarly you have to identify the set for the word 'FADE'

T UG ol Teh HEAT-TIg SaNT SR 1T &, S for et 31 & forelt wap o7 feraam aram ) Ryt 3 R 970 e wogp 3/ & ar &t gamT aife a7e &, SR & 7 R
1T &Y et H &1 3Tegg 1 % wioT 3R dferT &1 dear 0 9 4 30T 3oy 115 T 9 & a1 §1 37 Mg § Uk 38N Y Ugel 3eh! Ui I a1e 7 T e gan qefrar
ST HRT & | ST 3 T A’ &Y 02, 10 31T aRT GITT ST Fhll & AT 'B ' &Y 57, 65 3T GIRT GffT ST Fhell &1 $ c¥E & 39! 2T g 21 'FADE' & foIT Fofg Y
T B

MATRIX - I MATRIX - IL
EENSNN BN
0 I E A ol 5 F 2] B G H
¥ A, @ U E [ B G H :E D
2 E 1T o U A 7 B B & H B
3 L&) u E A I g G H D B F
4 o A T E © ® H B F G D

Options:
1) 76, 02, 75, 32

2) 68,20,57, 14
3) 55, 33, 65, 23

4) 89, 10, 96, 41
Correct Answer: 76, 02, 75, 32
Candidate Answer: 76, 02, 75, 32

Question 26.Chief Ministers of States are members of

ﬁmﬁ@aﬁmﬁﬂmmma?ﬂmsﬁrm%?
Options:

1) NITI Commission(Aayog)

AT 3T

2) Finance Commission

[Eroiipic

3) National Development Council

TR T IRYE

4) Election Commission

AT TN

Correct Answer: National Development Council
T TR IRYG

Candidate Answer: Election Commission
Eoicpic

Question 27.When the demand for a good increases with an increase in income, such a good is called

waﬁﬁm%mm%ﬁa&r@mﬁaﬁ%aﬁﬁaﬁﬁwm%?
Options:

1) Superior good

S i

2) Giffin good

fFTEaO Al

3) Inferior good

fogpec e

4) Normal good

AT Al

Correct Answer: Superior good
SepeT A

Candidate Answer: Giffin good
T el

Question 28.Which of the following is the most important raw material for generation of power in India?

AR # Fall 3culeat & v eAfaf@d & & wlaar yog@ sear yerd ¢ ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD I=&appid=1a4fff78943b24af40c79deccfO9bb87# 11/29
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Options:
1) Mineral Oil
gfas aa
2) Natural Gas
wefae
3) Uranium
s
4) Coal
FRTelT

Correct Answer: Coal
FRIel

Candidate Answer: Coal
FRIeT

Question 29.Which of the following is the treatment of water pollution?

fArAfaf@a feredt & & @let AT STel TQWOT &1 3TER 82

Options:

1) Bag house filter

&1 g139 fegees

2) Windrow composting
a8 meaReeaT

3) Venturi scrubber
FT=Y TP

4) Reverse Osmosis

gfdad! wRreRor

Correct Answer: Reverse Osmosis

gfaadt wRrERoT
Candidate Answer: [ NOT ANSWERED ]

Question 30.The Comptroller and Auditor General is closely connected with which of the following Committees of Parliament?

mwmmm@mﬁmﬁ@ammm@@@%?
Options:

1) The Estimates Committee

YTeFholel AR

2) The Committee on Public Undertakings
ArdSTiaieh 3Usha AR

3) The Public Accounts Committee

o T afAfd

4) All of these

e fasroT T &

Correct Answer: The Public Accounts Committee

o orET afAfa

Candidate Answer: The Public Accounts Committee

o orET afAfa

Question 31.The demand of a commodity is a direct demand but the demand of a factor of production is called a

Tl ey 1 FHiaT Uk TewraT Hier 8, foh] Scueet & ek S AT T gl § ?
Options:

1) Crossed demand

o Hia

2) Joint demand

Tgerc A

3) Derived demand

&gcqea AT

4) Independent demand

T AT

Correct Answer: Derived demand
&gcTea AT

Candidate Answer: [ NOT ANSWERED ]

Question 32.Depreciation is loss in value of

7o o s gea drgf g 2

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD I=&appid=1a4fff78943b24af40c79deccfO9bb87# 12/29
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Options:
1) Final goods
3ifa# 3eurg (ATeT)
2) Machinery
R (I W)
3) Capital stock
ot Tl
4) Stock of inventory
TEE T wih
Correct Answer: Machinery
FNTL (I THg)
Candidate Answer: Machinery
N (I THg)

Question 33.What is the Mehrauli Pillar in the complex of Qutub Minar primarily famous for?

Fd AR & g e el frer grffs &9 & frg roT vflig 82
Options:

1) Proverbial height

NFuTAg S8 & FROT

2) Skilful stone cutting

T TR §E Fers T HRRT & HROT

3) Excellent quality steel

3T U T SEAT & HROT

4) Statue of Buddha on top

A o) g S At & FwRoT

Correct Answer: Excellent quality steel
3T UTAAT T SEAT & HROT
Candidate Answer: [ NOT ANSWERED ]

Question 34.Harvesting season of Kharif crop in India is

HRATY F T H FHA H el ¥ & foheT AT 7 HT AT & 2
Options:

1) January-March

FATY-AT

2) February-April

wa-31e

3) September-October

[GREESEICTCRS

4) November-January

ATFIL-STTa

Correct Answer: September-October
[GEESEICT RS

Candidate Answer: September-October
[GERSEICIHCRS

Question 35.Which of the following produces the most solid waste ?

AT 7 & Sl T SIET 3T TIRST 3ol FAT &2

Options:
1) Agriculture
FY

[4

2) Nuclear Power Plants

gfFeRIT e’ §IH

3) Manufacturing

3cqTesT 3T

4) Packaging Industry

T Seer

Correct Answer: Manufacturing

3cqTesT 31T

Candidate Answer: [ NOT ANSWERED ]

Question 36.Potassium Permanganate is used for purifying drinking water, because

SIERITH TRAIAC T TIIT GSTel oh YEIROT o8 foIT fevam STl & Fifeh T

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD I=&appid=1a4fff78943b24af40c79deccfO9bb87# 13/29
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Options:
1) It is a reducing agent
A ToiT &
2) It is an oxidising agent
e AT veic §
3) Itis a sterilising agent
Te=f 10T Tole &
4) Tt dissolves the impurities of water
St &1 repfeat At &aT §
Correct Answer: It is an oxidising agent
S nfFasEie T &
Candidate Answer: It dissolves the impurities of water
EEEIE MRk CECIE

Question 37.Spraying of DDT on crops causes pollution of

wHel 9T 31.3.2Y. T BSHE fhe TR T TGyt Sctet Fcl 82
Options:

1) Air & Soil

Ay T 3T

2) Crops & Air

B ddT aTgr

3) Soil & Water

Hel T Stel

4) Air & Water

Y TTUT STl

Correct Answer: Soil & Water

HeT AT S

Candidate Answer: [ NOT ANSWERED ]

Question 38.Which cells in pancreas produce Insulin ?

Afeshare T IR, S Sogioiad Scted I &, AT gl 82
Options:

1) Thymus

UHA

2) Estrogen

TN

3) Corpus epididymis

Fag YfssafET

4) Islets of Langerhans

3TsoleH 3T IRg=w

Correct Answer: Islets of Langerhans
3TSeH T STRgea

Candidate Answer: Thymus

IIHT

Question 39.When we see an object, the image formed on the retina is

o gt Rl g (RUg) Y et &t YT R aeieY aren AR e g 2
Options:

1) Real and inverted

rEdTas 9T 3eeT

2) Real and erect

rEdfas qar drer

3) Virtual and erect

FHiead aUr drer

4) Virtual and inverted

FHieqd I 3ecl

Correct Answer: Real and inverted

JIETTAS JUT 3ol

Candidate Answer: Real and inverted

qIETTAS a7 3ol

Question 40.Find the "odd one out".

frfaf@a 7 @ slaar Asea sreer g ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD I=&appid=1a4fff78943b24af40c79deccfO9bb87# 14/29
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Options:
1) Linux
BIEGER:)
2) Windows 98
a3 98
3) C++
C++
4) Windows 7
e 7
Correct Answer: C++
C++

Candidate Answer: C++
C++

Question 41.Kinetic energy depends on

Tifast Foi fore 9X IR et 82

Options:

1) the velocity or speed of the moving body.
afaeher /aeereie fvs & der X

2) the mass of the moving body

afaeher Rvs & IR

3) the pressure of the moving body

sifaeier Ao & g W

4) both mass and velocity of the moving body
aifaeier fus & Jer qUT R gt 9X

Correct Answer: both mass and velocity of the moving body
aifaeiier s & 397 927 7R @t )

Candidate Answer: [ NOT ANSWERED ]

Question 42.In which form is the supplied heat energy stored during change in temperature of substance?

Y 9erey # a1 IRadeT & ERIeT FHIRG 35T 3o1T fhH &9 # HaIfed W g ?
Options:

1) Heat energy

ISHT FoiT

2) Kinetic energy

aifast S

3) Potential energy

fawg e

4) Both kinetic and potential energy

aifasT g Ao 3o et

Correct Answer: Kinetic energy

aifast St
Candidate Answer: [ NOT ANSWERED ]

Question 43.Atoms of same element having different mass numbers are called

S TR ded o URA] &1 Ueh A SITel GedHle TEAT BIch ¢ dl 3§ 97 Hed 87
Options:

1) Isobars

ITIEER

2) Isotopes

KlIpEi ey

3) Isotones

TR

4) Isomers

AR

Correct Answer: Isotopes

Py

Candidate Answer: Isotopes

KDy

Question 44.Which script was used in Ashoka's inscriptions?

312N & RemerE uX e fordt &1 et foawam arar ar?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD I=&appid=1a4fff78943b24af40c79deccfO9bb87#
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Options:
1) Brahmi
SeH
2) Devanagiri
AT
3) Gurmukhi
o
4) Sanskrit
q&hd

c
Correct Answer: Brahmi
EIRz
Candidate Answer: Devanagiri

AR

Question 45.The ideas of Liberty, Equality and Fraternity, which influenced the Indian National Movement, was taken from

T, FARAT AR Sfeadn & fauR, ﬁﬂﬁmvﬁrr@wmwﬁag&n 2T, gl § faw arT &7
Options:

1) American Revolution

ST Shifer

2) Russian Revolution

wr wifa

3) Chinese revolution

AT ifer

4) French revolution

I & shifa

Correct Answer: French revolution
Wi T Hifa

Candidate Answer: French revolution
wie Y ifa

Question 46.The Kaushal Kendra (skilling center) under the Pradhan Mantri Mudra Yojana has been inaugurated in the city of

TEITeT HAT Hel STelT & et hiiel sherg; (FRITRT 3hes) T SeresT Teohd e & foha ar ?
Options:

1) Noida

Aresr

2) Kolkata

PIGHIAT

3) Mumbai

s

4) Hyderabad
(LRI

Correct Answer: Noida

At

Candidate Answer: Noida

Aresr

Question 47.Which one of the following is not the official language of the UNO?

T Tsg T4 H AT & leTdl 1 hioT hr 1197 =781 82
Options:

1) French

e

2) Arabic

Wfss

3) Spanish

wferer

4) Japanese

STITY

Correct Answer: Japanese
STAT

Candidate Answer: Japanese
ST

Question 48.With the participation in the Rio Olympics who has become the first tennis player in the world to have 7 appearances in Olympics?

R3T 3NArE & 99191 el ag i e Rrest § St |y SR 3hfoiftrers & amer o b 872

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD I=&appid=1a4fff78943b24af40c79deccfO9bb87# 16/29
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Options:

1) Martina Navratilova

ARSI Aaifcreiar

2) Serena Williams

T o=

3) Leander Paes

IGLEREE:)

4) Roger Federer

o e

Correct Answer: Leander Paes
IGREREE:)

Candidate Answer: Martina Navratilova

AR Aawifarear

Question 49.How many rings are there in the Olympic flag?
Jitfeiftera s 7 foraeh Rea €2

Options:

1)4

2)5

3)6

4)7
Correct Answer: 5
Candidate Answer: 5

Question 50.Indian Army's School of Artillery is located at

HRCTRT TeT T AT FeTeRT (Fhet 3T o) Tl [ 872
Options:

1) Khadakvasala

Gshardell

2) Dehradun

agteg

3) Deolali

gaerrelr

4) Roorkee

FhT

Correct Answer: Deolali

aetel

Candidate Answer: Roorkee

5T

Question 51.A and B together can do a piece of work in 12 days while A alone can do the same work in 30 days. B alone can do it in

A 3R B e &1eT 1 fRer 12 o7 3 &X ehc § STalfeh A 3ahell 38 1T &t 30 f&eT 37 oY WehcTT &1 B 3ahel 38T 1 1 fehcTel foeT 3 &Y TohelT & ?
Options:

1) 18 days

18 &=t

2) 20 days

20 ot

3) 15 days

15 &=

4) 22 days

22 et

Correct Answer: 20 days
20 o=t

Candidate Answer: 20 days
20 &=t

Question 52.
The diagonal of a cube is v 192 cm . its volume (in cm?®) will be

e Tt o1 fgenot V192 Q.. §1 sae 3madeT (.3 ) fvea gem ?
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Options:
1) 216
2) 432
3) 512

4) 624
Correct Answer: 512
Candidate Answer: [ NOT ANSWERED ]

Question 53.A watch is listed for Rs.230 and is sold at a discount of 12%, then the sale price of the watch is

Teh TST T Hed Rs. 230 §1 T8 12% T @ O S Sicll &, AT st a7 el a2 febetetr giam ?
Options:

1) Rs.27.6

2) Rs.276

3) Rs.202.4

4) Rs.257.6
Correct Answer: Rs.202.4
Candidate Answer: Rs.202.4

Question 54.Ravi has a roadmap with a scale of 1.5 cm for 18 km. He drives on that road for 72 km. What would be his distance covered in that map.

& & org gicr 18 A, & v 1.5 Q.. arelr AsHT &1 98 30 e TR 72 Th.#0. Telcll §1 39 HY H o7 1 3718 g0 Rhciair gia ?
Options:

1)4cm

4q.a

2)6cm

6 a3

3)8cm

8 a.am

4) 7 cm

79,

Correct Answer: 6 cm
6 ..

Candidate Answer: [ NOT ANSWERED ]

Question 55.The profit (in Rs.) after selling an article for Rs.524 is the same as the loss (in Rs.) after selling it for Rs.452. The cost price of the article is:

el 3% 1 Rs. 524 & 3=1eY TR 31T &1 W 81T & FoIctalT 38 Rs. 452 & S=ie) 9% B11¥ gIell & | I T by e T ?

Options:
1) Rs.480

2) Rs.485
3) Rs.488

4) Rs.500
Correct Answer: Rs.488
Candidate Answer: [ NOT ANSWERED ]

Question 56.A circle and a square have same area. The ratio of the side of the square to the radius of the circle will be:

Teh Jod T Th a1 o &1thel TAA § | @37 &1 91T 3R gt 1 Hoar i Jqurd a1 §?

Options:
1)

Vil

2)

1:47

3)
Tl

4)
1:m
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Correct Answer:
V1l

Candidate Answer: [ NOT ANSWERED ]

Question 57.How long does a train, 75 m long, moving at 60 km/hr take to pass a certain telegraph post?

75 #. ol Ueh YoRMEY 60 36,30, /eroe 1 arer I foRely Selant & @Y &l IR e F fovdeTr @a ot ?
Options:

1) 3.5 seconds

3.5 d&sd

2) 4.5 seconds

4.5 JhsH

3) 5 seconds

5 Y

4) 5.4 seconds

5.4 9&sH

Correct Answer: 4.5 seconds

4.5 THsH

Candidate Answer: 4.5 seconds

4.5 JhsH

Question 58.

2 1
If 2x-—= 1 (x # 0),then the value of x*- —is
x x

i 2x - %: 1(x = 0),8rane- %ﬂﬂﬂ'ﬂé‘?

Options:
1)
13

Correct Answer:
13
8

Candidate Answer: [ NOT ANSWERED ]

Question 59.
if(o +§) 2= 3, then the value of a° +$ will be

aﬁ(u%)2=3€fﬁ'?'az+% T HIaT FAT g 7

Options:
1)0

2)1
3)2

4)3
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]
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Question 60.The point equidistant from the vertices of a triangle is called its

oo Fager & ot & FATeeh g i . e 87
Options:

1) incentre

KIGETx

2) circumcentre

qReheg

3) orthocentre

[SCCr-y

4) centroid

Fogan

Correct Answer: circumcentre
SIeTy

Candidate Answer: centroid

o

Question 61.If one angle of a triangle is equal to half the sum of the other two equal angles, then the triangle is

i, T3l TASLT 1 Teh 10T @R &1 HHN HIUI o AT & T & R &, AT BT har g ?

Options:
1) isosceles

FAGASTE

el
2) scalene

3) equilateral
RS

4) right angled
HHRIOR

Correct Answer: equilateral
JHAS

S
Candidate Answer: isosceles

BEACELRS

= S
Question 62.

IfSin‘8 - Cos’8 = E , then the value of
4

sin‘e-Cos’ais

1
e 5in?6 - cos?8 = Z,ETHTsin“G - cos*H I Al FATEIE ?

Options:
1)3/4

2) Y,

a1,
Correct Answer: !/,
Candidate Answer: [ NOT ANSWERED ]

Question 63.The least number, which when divided by 5, 6, 7 and 8 leaves a remainder 3 in each case, but when divided by 9 leaves no remainder, is:

TE A OIS T HieA-A1 & T 5,6,7,8 A AT & O Fcdeh &30 # 3 AV I, o] 9 F 49T & O F5 A9 o T ?

Options:
1) 1677

2) 1683
3) 2523

4) 3363
Correct Answer: 1683
Candidate Answer: 1683
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Question 64.A cricketer, whose bowling average was 12.4 runs/wicket takes 5 wickets for 22 runs in a match, thereby decreases his average by 0.4. The number of
wickets, taken by him before this match was:

TRl fopehex &Y, ST Fearol &1 3iad 12.4 T wia fashe om, Ua 3 & 22 & 3o 5 e faw forey 35T dieamsht & 3w & 0.4 &7 &l 37 Sl §1 59 #9 O ggor
38 ¢aRT folv a3 fene 7 F&ar fandsir &Y ?

Options:
1)78

2) 87
3) 95

4) 105
Correct Answer: 95
Candidate Answer: [ NOT ANSWERED ]

Question 65.Sum of the factors of 4b2c2 - (b2 + c2 - a2) 2 is

4b%c2 - (b? + 2 - a%) 2 & otient &7 AT Fretetr & ?
Options:
1)a+b+c

2)2(a+b+c)
3)0

4)1
Correct Answer: 2(a + b +c)
Candidate Answer: [ NOT ANSWERED ]

Question 66.If { 1/ (a - b) } 2 + ab = p (a + b)?, then the value of p is

afg{Y,(a-b)}2+ab=p(a+byeralpH AT FTE?

Options:
1)p=4

2)
p:lf{z

p:l_'fd

4)p=2
Correct Answer:

p:l_'fd

Candidate Answer: [ NOT ANSWERED ]

Question 67.The sum of two angles of a triangle is 116° and their difference is 24°. The measure of smallest angle of the triangle is

TR T31T 3 2T SIUM T AT 116° § 3R 3T 31wt 24° & ST & FIH SIS HIUT T AT FATE ?

Options:
1) 38°

2) 28°
3) 46°

4) 64°
Correct Answer: 46°
Candidate Answer: 46°

Question 68.In a A ABC, DE || BC. D and E lie on AB and AC respectively. If AB = 7 cm and BD = 3cm, then find BC:DE

T A ABC # DE || BC €1 D 3R E %#RT:AB 3R AC IX 9sd §1 37 AB = 7 .4 3iR BD = 3 ¥.#. g df BC:DE JTd HIfoIT ?

Options:
1) 2:2

2)3:2
3)3.5:2

4)7:2
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Correct Answer: 3.5: 2
Candidate Answer: [ NOT ANSWERED ]

Question 69.

SinZ63°+Sin%27°

Thevalue of ———
CosZ217%4+Cos273*

sin*63%+sin’27°
cos*17%+cos*73°

Options:
1)0

FT HlT 7T EHFT ?

2)1
3)2

4)-1
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 70.The difference between the compound interest and the simple interest on Rs. 6250 at 8% per annum in 2 years is

Rs. 6250 X 8% aTi¥eh T oX { Tehq e sATeT 3R HIUROT TS T HeclX FAT g1 ?

Options:
1) Rs.30

2) Rs.40
3) Rs.50

4) Rs.60
Correct Answer: Rs.40
Candidate Answer: [ NOT ANSWERED ]

Question 71.If the angle of elevation of the top of a pillar from the ground level is raised from 30° to 60°, the length of the shadow of a pillar of height 50v3 will be
decreased by

i T go & el @aeY & MY T IeaA =T 10T 30° T Fora 60° AT STaT & Y 50v3 3 @Y T ST Y oS vl ge st ?
Options:

1) 60 m

60 #.

2)75m

75 #r.

3) 100 m

100 7.

4)50m

50 #.

Correct Answer: 100 m
100 .

Candidate Answer: [ NOT ANSWERED ]
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Question 72.Study the following pie-chart and answer the questions.
Budget estimated by a family for their monthly expenses.
Total salary = [ 32000 per month

AT IS 1€ T ETIA HIfSTT 3R TR&AT T 3caR ST |

IRER GaRT 3= Ak G & TAT AT Tie Fed dcfal = (1 32000 il #g

G- Grocery
G M - Misceliancous
20% | - investment
CL - clothing
EL - Electricity
C - cansin
C E - Education

6%

The budget estimated by the family on Clothing and Grocery together is

IRER ZaRT a7 Ue TR W Fel el 3Taifard srste o1 @ ?

Options:
1) Rs.8950

2) Rs.8960
3) Rs.8850

4) Rs.8860
Correct Answer: Rs.8960
Candidate Answer: Rs.8960

Question 73.Study the following pie-chart and answer the questions.
Budget estimated by a family for their monthly expenses.

Total salary = (1 32000 per month

TR IS TO1E T 31eTTT RIFST 3R TR&AT & 3caR AToIT |

&R gaRT 3= Al @ & fAT AT aoie el defal = U 32000 Wi #E

G- Grocery
G M - Miscellancous
20% | - investment
CL - clothing
EL - Eectricity
C - callgin
C E - Education
6%

Due to sudden marriage, the family incurs miscellaneous expenditure of Rs. 3040 in total. Then the increase in the amount under this head from that budgeted is

3T fadTE o SROT IRAR el Rs. 3040 1 fafaey saar et 81 aﬂﬁﬁamﬁﬁgﬂﬂaéﬁmwsﬁmaﬁg?

Options:
1) Rs.810

2) Rs.1738
3) Rs.234

4) Rs.800
Correct Answer: Rs.800
Candidate Answer: [ NOT ANSWERED ]
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Question 74.Study the following pie-chart and answer the questions.
Budget estimated by a family for their monthly expenses.
Total salary = [ 32000 per month

AT IS 1€ T TETIA HIfSTT 3R TR&AT T 3caR ST |

IRER GaRT 3= Ak G & TAT AT Tie Fed dcfal = (1 32000 il #g

G- Grocery
G M - Misceliancous
20% | - investment
CL - clothing
EL - Electricity
C - cansin
C E - Education

6%

The difference in the amount estimated by the family on Electricity and Call bill is:

aRER @Rt Rsrelr 3R wiet et oX regafora iy #F et swaw & 2

Options:
1) Rs.4560

2) Rs.4470
3) Rs.4168

4) Rs.4160
Correct Answer: Rs.4160
Candidate Answer: Rs.4160

Question 75.Study the following pie-chart and answer the questions.
Budget estimated by a family for their monthly expenses.
Total salary = (1 32000 per month

TR IS 1€ T 31eTTT RIFST 3R TR&AT & caR ST |

IRER @Y 3= Al @ & fAT 3gAfAT ao7e Fef defal = U 32000 Wi #E

G- Grocery
G M - Miscellancous
20% | - investment
CL - clothing
EL - Eectricity
C - callgin
C E - Education
6%

The family actually spent Rs.4672 on Grocery. Then the difference in the amount budgeted and spent on grocery is:

aRaR o ot o) aea #Rs. 4672 1 T R At fet o) AT dete Uiy AR oo i a1s uftr F wr swaw v ?

Options:
1) Rs.1528

2) Rs.1728
3) Rs.1278

4) Rs.1628
Correct Answer: Rs.1728
Candidate Answer: Rs.1728
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Question 76.1In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

MASTICATE

Options:

1) CHEW

2) CHOKE

3) BITE

4) SWALLOW

Correct Answer: CHEW

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

FEROCIOUS

Options:

1) MILD

2) SWEET

3) BRUTAL

4) WILD

Correct Answer: MILD
Candidate Answer: SWEET

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Alleviate

2) Allaviate

3) Alliveate

4) Allaevate

Correct Answer: Alleviate

Candidate Answer: Alleviate

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “No error” option.

The reason Janet came dressed (A) / as Lady Gaga was because she'd been told (B) / it was a costume party (C) / No error (D).
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “"No error” option.

The path to (A) / the famous church passes (B) / through a forest (C) / No error (D).
Options:

1)A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: D

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “No error” option.

A first European sailor (A) / who came to India (B) / was Vasco-da-Gama (C) / No error (D).
Options:

1A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Legislation was passed to punish brokers who their client’s funds.
Options:

1) devastate

2) devour

3) defalcate

4) dawdle

Correct Answer: defalcate
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Candidate Answer: devastate

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

His father was the same business.
Options:

1) managing over

2) engaged in

3) endowed with

4) enlisted in

Correct Answer: engaged in
Candidate Answer: engaged in

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

It is due to this lethargy that the plan fell
Options:

1) off

2) out

3) through

4) away

Correct Answer: through

Candidate Answer: out

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Bad blood

Options:

1) Shooting

2) Anaemia

3) Enmity

4) Mourning

Correct Answer: Enmity
Candidate Answer: Enmity

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To beat about the bush

Options:

1) To try to win favours

2) To talk well

3) To talk about relevant things
4) To talk about irrelevant things

Correct Answer: To talk about irrelevant things
Candidate Answer: [ NOT ANSWERED ]

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Maiden speech
Options:

1) Bachelor's speech
2) First speech

3) Last speech

4) Extempore speech

Correct Answer: First speech
Candidate Answer: First speech

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A place where money is coined.
Options:

1) Bank

2) Mint

3) Firm

4) Parliament

Correct Answer: Mint

Candidate Answer: Mint

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The process by means of which plants and animals breathe.
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Options:
1) Respiration
2) Germination
3) Absorption
4) Transpiration
Correct Answer: Respiration
Candidate Answer: Respiration

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who sneers at the aims and beliefs of his fellow men.
Options:

1) Critic

2) Connoisseur

3) Pedant

4) Cynic

Correct Answer: Cynic

Candidate Answer: Pedant

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

He started at the bottom rung of the ladder and then gained success.
Options:

1) bottom rung of the stair

2) lower rung of the ladder

3) lower rung of the stair

4) No improvement

Correct Answer: No improvement
Candidate Answer: lower rung of the ladder

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

The judge gave the verdict against the Government.
Options:

1) pronounced

2) declared

3) sentenced

4) No improvement

Correct Answer: pronounced

Candidate Answer: declared

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

The fire service personnel put off the fire with much difficulty.
Options:

1) put on

2) put out

3) put away

4) No improvement

Correct Answer: put out
Candidate Answer: No improvement

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

He has the irritating habit of playing his own trumpet all the time.
Options:

1) blowing his own trumpet

2) pumping his own trumpet

3) bringing up his own trumpet

4) No improvement

Correct Answer: blowing his own trumpet

Candidate Answer: No improvement

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

His iliness means he must resign his chairmanship impromptu.
Options:

1) fast

2) forthwith

3) earliest

4) No improvement

Correct Answer: forthwith
Candidate Answer: earliest
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Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

There is a growing parallel between India and Europe in terms of language policy and challenges of maintaining a balance between regional languages, minority
languages and the rising demand for English.

The EU's language policy promotes multinationalism and the idea that every EU citizen should learn and speak at least two foreign languages in addition to their
mother tongue. In practice, the foreign language curriculum in European countries is dominated now by the need to learn English. So the defacto policy is that
children should, in addition to the language of their member state, learn English and one other European language. English has become not only the language of
business across Europe, but also the corporate language of many French, German, Dutch and Spanish enterprises.

The trend across Europe is for schools to begin teaching English in Class I, treating it as a basic skill rather than a foreign language. This trend began in earnest only
after 2000. However, the methods to teach English are diverse - an increasingly popular trend is towards bilingual schools, which teach through more than one
language medium.

There is a parallel between India and Europe as regards
Options:

1) language policy

2) trade policy

3) foreign policy

4) cultural policy

Correct Answer: language policy

Candidate Answer: language policy

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

There is a growing parallel between India and Europe in terms of language policy and challenges of maintaining a balance between regional languages, minority
languages and the rising demand for English.

The EU's language policy promotes multinationalism and the idea that every EU citizen should learn and speak at least two foreign languages in addition to their
mother tongue. In practice, the foreign language curriculum in European countries is dominated now by the need to learn English. So the defacto policy is that
children should, in addition to the language of their member state, learn English and one other European language. English has become not only the language of
business across Europe, but also the corporate language of many French, German, Dutch and Spanish enterprises.

The trend across Europe is for schools to begin teaching English in Class I, treating it as a basic skill rather than a foreign language. This trend began in earnest only
after 2000. However, the methods to teach English are diverse - an increasingly popular trend is towards bilingual schools, which teach through more than one
language medium.

According to the passage, the foreign language policy in the EU aims to foster.
Options:

1) English

2) Multilingualism

3) Bilingualism

4) Only native language

Correct Answer: Multilingualism

Candidate Answer: English

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

There is a growing parallel between India and Europe in terms of language policy and challenges of maintaining a balance between regional languages, minority
languages and the rising demand for English.

The EU's language policy promotes multinationalism and the idea that every EU citizen should learn and speak at least two foreign languages in addition to their
mother tongue. In practice, the foreign language curriculum in European countries is dominated now by the need to learn English. So the defacto policy is that
children should, in addition to the language of their member state, learn English and one other European language. English has become not only the language of
business across Europe, but also the corporate language of many French, German, Dutch and Spanish enterprises.

The trend across Europe is for schools to begin teaching English in Class I, treating it as a basic skill rather than a foreign language. This trend began in earnest only
after 2000. However, the methods to teach English are diverse - an increasingly popular trend is towards bilingual schools, which teach through more than one
language medium.

The passage says that the rising demand for English in the EU is because of
Options:

1) immigrants

2) emigrants

3) Government policy

4) trade and commerce

Correct Answer: trade and commerce
Candidate Answer: [ NOT ANSWERED ]
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Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

There is a growing parallel between India and Europe in terms of language policy and challenges of maintaining a balance between regional languages, minority
languages and the rising demand for English.

The EU's language policy promotes multinationalism and the idea that every EU citizen should learn and speak at least two foreign languages in addition to their
mother tongue. In practice, the foreign language curriculum in European countries is dominated now by the need to learn English. So the defacto policy is that
children should, in addition to the language of their member state, learn English and one other European language. English has become not only the language of
business across Europe, but also the corporate language of many French, German, Dutch and Spanish enterprises.

The trend across Europe is for schools to begin teaching English in Class I, treating it as a basic skill rather than a foreign language. This trend began in earnest only
after 2000. However, the methods to teach English are diverse - an increasingly popular trend is towards bilingual schools, which teach through more than one
language medium.

EU schools regard English as
Options:

1) a foreign language

2) a difficult language

3) a basic skill

4) an adult skill

Correct Answer: a basic skill
Candidate Answer: a basic skill

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

There is a growing parallel between India and Europe in terms of language policy and challenges of maintaining a balance between regional languages, minority
languages and the rising demand for English.

The EU's language policy promotes multinationalism and the idea that every EU citizen should learn and speak at least two foreign languages in addition to their
mother tongue. In practice, the foreign language curriculum in European countries is dominated now by the need to learn English. So the defacto policy is that
children should, in addition to the language of their member state, learn English and one other European language. English has become not only the language of
business across Europe, but also the corporate language of many French, German, Dutch and Spanish enterprises.

The trend across Europe is for schools to begin teaching English in Class I, treating it as a basic skill rather than a foreign language. This trend began in earnest only
after 2000. However, the methods to teach English are diverse - an increasingly popular trend is towards bilingual schools, which teach through more than one
language medium.

In Europe the usual pattern is that

Options:

1) children should study English late in life

2) children should start learning English from class 1

3) children may not study English when they are at school
4) children ought to study English just as a lingua franca

Correct Answer: children should start learning English from class I
Candidate Answer: children should start learning English from class I
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